SYDNEY GRAMM AL
5G 2009 GRAPHS AND INEQUATIONS (3A,C,D,E,F) 20th February

Attempt all questions. Show all working. Use your own paper.

1. Solve for z:
(a) o — 1< —9 ~(b) —7<3-5z<3 (¢) 22 < 16

3]

. Evaluate the following ,
(@) [—4] -] -7 (b) | =3+6- 10|

3. (a) If z = —7, evaluate |z + 3].
(b) Solve the equation |z 4 3] = 2.

(¢) Solve the inequation [5z 4 3| < 2 and graph the solution on a number line.

4. Sketch the graph of Yy =(z—2)(z +3). Hence, solve y = (z~2)(z+3)>0

t

. Determine algebraically whether the function f(z) = z(z® —2) is even, odd or neither.

The graph of y = (z — 3)(z + 3) is sketched ia,bove.
(a) Carefully sketch the graph of y = |(z — 3)(z + 3)|.
(b) State if the function Y= (z~3)(z +3)] is even, odd or neither.

8. (a) Sketch y = |z~ 1] and y = 22+ 3 on the same number plane.
(b) Find, algebraically, the points of intersection of the two graphs.
(c) Hence solve |z — 1] < 2z + 3.

9. (a) Sketch the union of z2 +y* <1and y>2-—z.

(b) What is the intersection of these two regions?
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